



:	-1
	-2
	-3
	-4
	-5
	-6



:	-1
:	-2
:	-3
:	-4

() : 1

$$: \alpha_n, \dots, \alpha_2, \alpha_1 \quad A_n, \dots, A_2, A_1$$

$$: \quad G \quad \alpha_1 + \alpha_2 + \dots + \alpha_n \neq 0$$

$$\cdot \alpha_1 \overrightarrow{GA_1} + \alpha_2 \overrightarrow{GA_2} + \dots + \alpha_n \overrightarrow{GA_n} = \vec{0}$$

:

$$\{(A_1, \alpha_1); (A_2, \alpha_2); \dots; (A_n, \alpha_n)\}$$

:1

$$\overrightarrow{IA} + \overrightarrow{IB} = \vec{0} \quad [AB]$$

I

$$\{(A, 1); (B, 1)\}$$

I

:2

$$\overrightarrow{GA} + \overrightarrow{GB} + \overrightarrow{GC} = \vec{0} \quad ABC$$

G

$$\{(A, 1); (B, 1); (C, 1)\}$$

G

:

$$: \quad \alpha_1 + \alpha_2 + \dots + \alpha_n = 0 \quad :$$

$$\cdot \{(A_1, \alpha_1), (A_2, \alpha_2), \dots, (A_n, \alpha_n)\}$$

:1

$$\{(A_1, \alpha_1), (A_2, \alpha_2), \dots, (A_n, \alpha_n)\}$$

G

(1

:

M

$$\alpha_1 \overrightarrow{MA_1} + \alpha_2 \overrightarrow{MA_2} + \dots + \alpha_n \overrightarrow{MA_n} = (\alpha_1 + \alpha_2 + \dots + \alpha_n) \overrightarrow{MG}$$

$$\{(A, \alpha); (B, \beta); (C, \gamma)\}$$

H

(2

$$(\alpha + \beta \neq 0) \cdot \{(A, \alpha); (B, \beta)\}$$

K

$$\{(K, \alpha + \beta); (C, \gamma)\}$$

H

$$G \quad (O; \vec{i}, \vec{j}, \vec{k})$$

$$: \quad \{(A_1, \alpha_1); (A_2, \alpha_2); (A_n, \alpha_n)\}$$

$$A_n(x_n; y_n), \dots, A_2(x_2; y_2), A_1(x_1; y_1), G(x_G; y_G)$$

(1)

$$\alpha_1 \vec{OA}_1 + \alpha_2 \vec{OA}_2 + \dots + \alpha_n \vec{OA}_n = (\alpha_1 + \alpha_2 + \dots + \alpha_n) \vec{OG}$$

$$: \quad M=0$$

$$\vec{OG} = \frac{\alpha_1 \vec{OA}_1 + \alpha_2 \vec{OA}_2 + \dots + \alpha_n \vec{OA}_n}{\alpha_1 + \alpha_2 + \dots + \alpha_n}$$

$$\begin{cases} x_G = \frac{\alpha_1 x_1 + \alpha_2 x_2 + \dots + \alpha_n x_n}{\alpha_1 + \alpha_2 + \dots + \alpha_n} \\ y_G = \frac{\alpha_1 y_1 + \alpha_2 y_2 + \dots + \alpha_n y_n}{\alpha_1 + \alpha_2 + \dots + \alpha_n} \end{cases} :$$

$$A_n(Z_n); \dots; A_2(Z_2); A_1(Z_1); G(Z_G) :$$

$$Z_G = \frac{\alpha_1 Z_1 + \alpha_2 Z_2 + \dots + \alpha_n Z_n}{\alpha_1 + \alpha_2 + \dots + \alpha_n} :$$

$$, B, A \quad (O; \vec{i}, \vec{j}) :$$

$$Z_3 = -3 + i, Z_2 = -4i, Z_1 = 2 + 3i : \quad C$$

$$\{(A, 2); (B, -1); (C, 1)\} \quad G$$

:

$$2\vec{GA} - \vec{GB} + \vec{GC} = 0 \quad G$$

$$Z_G = \frac{2Z_1 - Z_2 + Z_3}{2 - 1 + 1} : \quad \vec{OG} = \frac{2\vec{OA} - \vec{OB} + \vec{OC}}{2 - 1 + 1} :$$

$$Z_G = \frac{1}{2} + \frac{11}{2}i \quad ; \quad Z_G = \frac{2(2 + 3i) + 4i - 3 + i}{2} \quad ;$$

: 2

$$\alpha + \beta \neq 0$$

β و α

B A

β و α

$$\{(A, \alpha); (B, \beta)\}$$

•

(AB)

\mathbb{R}

β و α

$$\{(A, \alpha); (B, \beta)\}$$

•

[AB]

\mathbb{R}

:

γ β α

A,B,C

:3

$$\alpha + \beta + \gamma \neq 0$$

β α

$$\{(A, \alpha); (B, \beta); (C, \gamma)\}$$

•

(ABC)

\mathbb{R}

γ

$$\{(A, \alpha); (B, \beta); (C, \gamma)\}$$

•

\mathbb{R}

γ β α

. ABC

:

:

-2

$$(o; \vec{i}; \vec{j}; \vec{k})$$

:

-

:

$$\vec{u}(a ; b ; c) \quad A(\alpha ; \beta ; \gamma) \quad (D)$$

$$M(x ; y ; z)$$

$$M \quad (D) \quad M$$

$$t \quad \begin{cases} x = at + \alpha \\ y = bt + \beta \\ z = ct + \gamma \end{cases} :$$

(D)

$$: \quad t \quad (D) \quad M(x ; y ; z) \quad \overrightarrow{AM} = t\vec{u}$$

$$\begin{cases} x = at + \alpha \\ y = bt + \beta \\ z = ct + \gamma \end{cases} :$$

(D)

$$\begin{cases} x = at + \alpha \\ y = bt + \beta \\ z = ct + \gamma \end{cases}$$

$$t \quad \vec{u}(a ; b ; c) \quad A(\alpha ; \beta ; \gamma)$$

:1

$$A(-1 ; 3 ; -4) \quad (D)$$

$$\vec{u}(4 ; -1 ; 3)$$

(D)

$$M(x ; y ; z)$$

$$t \in \mathbb{R} , \overrightarrow{AM} = t\vec{u} :$$

: (D)

$$\begin{cases} x + 1 = 4t \\ y - 3 = -t \\ z + 4 = 3t \end{cases}$$

$$t : \begin{cases} x = 4t - 1 \\ y = -t + 3 \\ z = 3t - 4 \end{cases}$$

: 2

$$\begin{cases} x = -t + 5 \\ y = 4t - 1 \\ z = \frac{1}{2}t + 5 \end{cases} :$$

$A(5 ; -1 ; 5)$ (Δ)

$$\vec{u} \left(-1 ; 4 ; \frac{1}{2} \right)$$

$A(\alpha_1 ; \beta ; \gamma)$ $(A ; \vec{u} ; \vec{v})$ (P) M

$\vec{u}(a' ; b' ; c')$ $\vec{u}(a ; b ; c)$

: $(x ; y ; z)$

$$t' t \begin{cases} x = at + a't' + \alpha \\ y = bt + b't' + \beta \\ z = ct + c't' + \gamma \end{cases}$$

$$\overrightarrow{AM} = t\vec{u} + t'\vec{u}' \quad : \quad t' = t$$

$$\begin{cases} x = at + a't' + \alpha \\ y = bt + b't' + \beta \\ z = ct + c't' + \gamma \end{cases} :$$

$$\vec{u}(a ; b ; c) \quad A(\alpha ; \beta ; \gamma) \quad (P)$$

$$t' = t \quad \vec{v}(a' ; b' ; c')$$

$$A(1 ; -3 ; 4) \quad (P)$$

$$\vec{v}(3 ; 2 ; 1) \quad \vec{u}(2 ; -1 ; 5)$$

$$(P) \quad (A ; \vec{u} ; \vec{v}) \quad \vec{v} \text{ و } \vec{u}$$

$$: \quad (x ; y ; z) \quad (P) \quad M$$

$$\begin{cases} x = 2t + 3t' + 1 \\ y = -t + 2t' - 3 \\ z = 5t + t' + 4 \end{cases} : \quad \begin{cases} x - 1 = 2t + 3t' \\ y + 3 = -t + 2t' \\ z - 4 = 5t + t' \end{cases}$$

(P)

$$\vec{u}(a; b; c) \quad A(\alpha; \beta; \gamma) \quad (P)$$

(D) M a,b,c

$$\frac{x - \alpha}{a} = \frac{y - \beta}{b} = \frac{z - \gamma}{c}$$

$$\begin{cases} x = at + \alpha \\ y = bt + \beta \\ z = ct + \gamma \end{cases} \quad (D)$$

$$\frac{x - \alpha}{a} = \frac{y - \beta}{b} = \frac{z - \gamma}{c} = t : \quad \begin{cases} x - \alpha = at \\ y - \beta = bt \\ z - \gamma = ct \end{cases}$$

$$(D) \quad \frac{x - \alpha}{a} = \frac{y - \beta}{b} = \frac{z - \gamma}{c}$$

b a

$$\vec{u}(a; b; c)$$

$$A(\alpha; \beta; \gamma)$$

c
a,b,c

$$A(-1, 3, 4) \quad (D)$$

$$\vec{u}(3; 2; 4)$$

$$\frac{x + 1}{3} = \frac{y - 3}{2} = \frac{z - 4}{4} : \quad (D)$$

:

:

: (P') و (P)

$$(P') : a'x + b'y + c'z + d' = 0 \quad (P) : ax + by + cz + d = 0$$

: k (P') و (P)

$$a' = ka \quad b' = kb' \quad c' = kc$$

:

 $\vec{n}(a;b;c)$ (P') و (P) $\vec{n}'(a';b';c')$

$$\vec{n}' = k\vec{n} \quad k$$

$$c' = ka \quad b' = kb \quad a' = ka :$$

:1

$$(P') : 4x - 2y + 8z = 0 \quad (P) : 2x - y + 4z - 5 = 0$$

$$\vec{n}'(4 ; -2 ; 8) \text{ و } \vec{n}(2 ; -1 ; 4)$$

$$(P) : x - y + 3z + 4 = 0 \quad : \quad : 2$$

$$(P') : 3x + y - 4z + 2 = 0$$

$$\vec{n}'(3 ; 1 ; -4) \quad \vec{n}(1 ; -1 ; 3)$$

:

1

$$\begin{cases} x = 0 \\ y = 0 \\ z = \alpha \end{cases} : (\mathbf{O} ; \vec{k}) \quad (1)$$

$$\begin{cases} x = 2\lambda + 2 \\ y = \lambda \\ z = -\lambda \end{cases} ; \begin{cases} x = 2\lambda - 1 \\ y = \lambda + 2 \\ z = -\lambda \end{cases} \quad (2)$$

$$ax + by + cz + d = 0 \quad (3)$$

$$ax + by + cz + d = 0 : \quad (4)$$

$$\begin{cases} x = 2\lambda - 1 \\ y = u + 2 \\ z = \lambda \end{cases} : \quad (5)$$

$$\begin{cases} x - y + 4 = 0 \\ 2x + y - 4z + 5 = 0 \end{cases} : \quad (6)$$

$$x - y + 4 = 0 \quad (7)$$

$$4x - y + 5 = 0 \quad (8)$$

$$\vec{n}(4; -1 ; 0)$$

$$2\vec{CA} - 4\vec{CB} = \vec{0} : \quad A,B,C \quad (9)$$

$$\{(A ; 1), (B ; -2), (c ; 3)\} \quad G \quad (10)$$

G $\{(A ; 1) ; (B ; -2)\}$ K
 $\cdot \{(K ; -1) ; (C ; 3)\}$

2

$\overrightarrow{CA} = \frac{-1}{2} \overrightarrow{CD} :$ c x

A D

$x \quad x - 1$

3

$\overrightarrow{AM} = \frac{2}{5} \overrightarrow{AB} + \frac{3}{5} \overrightarrow{AC} :$ M . A ABC

$\beta \text{ و } \alpha$

C , B

M

$\cdot (BC)$ M

4

$B(-2 ; 1 ; 4) , A(1 ; -3 ; 2)$

(AB)

-1

(AB)

-2

5

$A(-4 ; 2 ; 1) , B(-1 ; 5 ; 1) , C(-1 ; -2 ; 1) , D(0 ; 1 ; 3)$

A,B,C

-1

A,B,C

-2

(ABC)

D

-3

$\cdot (DAB)$

-4

6

$$\begin{cases} x = \lambda + \mu - 1 \\ y = -2\lambda + \mu \\ z = \lambda - 3\mu + 2 \end{cases} : (P)$$

(P') -1

. (P) A(-1 ; 2 ; 5)

. 7

L(1 ; -1 ; 3) , T(1 ; 2 ; -3) , S(-2 ; 1 ; 3)

L (P) -1

. (ST)

. (ST) -2

. 8

(D) (P)

$$(D) : \begin{cases} x = \lambda' \\ y = -2\lambda' + 1 \\ z = -\lambda' \end{cases} \quad (P) : \begin{cases} x = -1 + \lambda - \mu \\ y = 2 - \lambda + \mu \\ z = \lambda - 2\mu \end{cases}$$

. (D) (P)

. 9

C(0 , -1 , 1) ; B(-1 , 1 , -1) ; A(1 , 1 , -1)

$\vec{u}(2 ; -1 ; 1)$ D(-1 , 0 , 1) ;

. \vec{u} A (Δ) (1)

. (BCD) (2)

. (BCD) (Δ) (3)

. 10

(D) و (D')

(o ; i ; j ; k)

$$(D) : \begin{cases} x = \lambda + 1 \\ y = 2\lambda - 2 \\ z = -\lambda + 3 \end{cases} \quad (D') : \begin{cases} x = 3\lambda' + 3 \\ y = -\lambda' - 5 \\ z = \lambda' + 5 \end{cases}$$

(D') و (D) -1

(D') و (D) (P) -2

11

(Δ) (D)

$$(\Delta) : \begin{cases} x = t \\ y = t - 1 \\ z = -t \end{cases} \quad (D) : \begin{cases} x = -\lambda + 1 \\ y = 2\lambda \\ z = \lambda + 1 \end{cases}$$

α (Δ) A

(Δ) و (D) -1

(Δ) و (D) -2

(D) (P_α) α -3

A

o (p_α) α -4

(p_α) α -5

12

ABCDEFGH

(P)

$$2x + 6y - z + 5 = 0 :$$

. (BCG) -2

. (P) (BCG) -3

. 13

(P') و (P) M(x; y; z)

(P') : $x + 2y - 3z = 0$, (p) : $x - y + z - 4 = 0$:

. 14

. $-x + y + z - 4 = 0$: (P)

. C(1 ; 1 ; 0) , B(0 ; 1 ; 1) , A(1 ; 0 ; 1) (P')

. (P') -1

. (P') و (P) -2

. 1

. $\sqrt{}$ (5) . \times (4) . \times (3) . \times (2) $\sqrt{}$ (1)

. $\sqrt{}$ (10) $\sqrt{}$ (9) $\sqrt{}$ (8) . \times (7) $\sqrt{}$ (6)

. 2

: x

$$2\overrightarrow{CA} + \overrightarrow{CD} = \vec{0} : \quad \overrightarrow{CA} = -\frac{1}{2} \overrightarrow{CD}$$

: $x-1$ x

$$x \cdot \overrightarrow{CA} + (x-1) \overrightarrow{CD} = \vec{0}$$

$$. x=2 : \begin{cases} x = 2 \\ x - 1 = 1 \end{cases}$$

3

. C, B M -1

$$5\vec{AM} = 2\vec{AB} + 3\vec{AC} : \vec{AM} = \frac{2}{5}\vec{AB} + \frac{3}{5}\vec{AC} :$$

$$5\vec{AM} - 2\vec{AB} - 3\vec{AC} = \vec{0}$$

$$-5\vec{MA} - 2(\vec{MB} - \vec{MA}) - 3(\vec{MC} - \vec{MA}) = \vec{0}$$

$$-5\vec{MA} - 2\vec{MB} + 2\vec{MA} - 3\vec{MC} + 3\vec{MA} = \vec{0}$$

$$-2\vec{MB} - 3\vec{MC} = \vec{0}$$

$$2\vec{MB} + 3\vec{MC} = \vec{0} :$$

3 2 C B M

$$\beta = 3 \quad \alpha = 2$$

. (BC) M C B M

4

$$M(x; y; z) \quad \vec{AB}(-3; 4; 2) : (AB) \quad (1)$$

$$\lambda \quad \vec{AM} = \lambda \vec{AB} : \quad (AB) \quad M \quad .$$

$$\begin{cases} x = -3\lambda + 1 \\ y = 4\lambda - 3 \\ z = 2\lambda + 2 \end{cases} : \begin{cases} x - 1 = -3\lambda \\ y + 3 = 4\lambda \\ z - 2 = 2\lambda \end{cases}$$

: (AB) (2)

$$\begin{cases} x = -3\lambda + 1 \dots (1) \\ y = 4\lambda - 3 \dots (2) \\ z = 2\lambda + 2 \dots (3) \end{cases} :$$

$$: (2) \quad \lambda = \frac{-1}{3}(x - 1) : (1)$$

$$3y = -4(x - 1) - 9 : \quad y = \frac{-4}{3}(x - 1) - 3$$

$$z = \frac{-2}{3}(x-1) + 2 \quad : (3) \qquad 3y + 4x - 5 = 0 :$$

$$3y + 2x - 8 = 0 : \qquad 3y = -2x + 8$$

$$\begin{cases} 4x + 3y - 5 = 0 \\ 4x + 3y - 8 = 0 \end{cases} :$$

:

$$\cdot \quad 2x + 3y - 8 = 0 \qquad 4x + 3y - 5 = 0$$

$$\cdot \quad \boxed{5}$$

: A, B, C -1

$$\overrightarrow{AC} (3, -4; 0), \overrightarrow{AB} (3; 3; 0) :$$

$$\overrightarrow{AC} \quad \overrightarrow{AB}$$

$$\overrightarrow{AC} \quad \overrightarrow{AB}$$

A, B, C

: (P) -2

$$(A, \overrightarrow{AB}, \overrightarrow{AC}) :$$

A, B, C

: (P) (ABC)

$$\overrightarrow{AM} = \lambda \overrightarrow{AB} + \mu \overrightarrow{AC} : \quad (P) \quad M(x; y; z)$$

$$\begin{cases} x = 3\lambda + 3\mu - 4 \\ y = 3\lambda - 4\mu + 2 \\ z = 1 \end{cases} : \quad \begin{cases} x + 4 = 3\lambda + 3\mu \\ y - 2 = 3\lambda - 4\mu \\ z - 1 = 0 \end{cases} :$$

: (ABC) D -3

$$: \quad \begin{cases} x = 3\lambda + 3\mu - 4 \\ y = 3\lambda - 4\mu + 2 \\ z = 1 \end{cases} :$$

: (ABC) D

$$\begin{cases} 0 = 3\lambda + 3\mu - 4 \\ 1 = 3\lambda - 4\mu + 2 \\ 3 = 1 \end{cases}$$

. (ABC) D

. (DAB) -4

$$\overrightarrow{DB} \quad \overrightarrow{DA} \quad (ABC) \quad D$$

$$. (DAB) \quad (D, \overrightarrow{DA}, \overrightarrow{DB})$$

M(x; y; z) (DAB) M

$$\overrightarrow{AM} = \alpha \overrightarrow{DA} + \beta \overrightarrow{DB} :$$

$$\overrightarrow{DB}(-1; 4; -2), \overrightarrow{DA}(-4; 1; -2)$$

$$\begin{cases} x = -4\alpha - \beta - 4 \\ y = \alpha + 4\beta + 2 \\ z = -2\alpha - 2\beta + 1 \end{cases} : \begin{cases} x + 4 = -4\alpha - \beta \\ y - 2 = \alpha + 4\beta \\ z - 1 = -2\alpha - 2\beta \end{cases} :$$

(DAB)

6

:(p')

:(p') (P) (p')

$$\begin{cases} x = \lambda + \mu + x_0 \\ y = -2\lambda + \mu + y_0 \\ z = \lambda - 3\mu + z_0 \end{cases}$$

:(p') A

(p')

$$\begin{cases} x = \lambda + \mu - 1 \\ y = -2\lambda + \mu + 2 \\ z = \lambda - 3\mu + 5 \end{cases}$$

: (P) -1

. T, S, L

(P)

$$\overrightarrow{LT}(0; 3; -6), \overrightarrow{LS}(-3; 2; 0)$$

$$\overrightarrow{LT} \quad \overrightarrow{LS}$$

$$\cdot (P) \quad (L, \overrightarrow{LS}, \overrightarrow{LT})$$

: (D) M(x; y; z)

$$\overrightarrow{LM} = \alpha \overrightarrow{LS} + \beta \overrightarrow{LT}$$

$$\begin{cases} x = -3\alpha + 1 \\ y = 2\alpha + 3\beta - 1 \\ z = -6\beta + 3 \end{cases} : \begin{cases} x - 1 = -3\alpha \\ y + 1 = 2\alpha + 3\beta \\ z - 3 = -6\beta \end{cases} :$$

$$\begin{cases} x = -3\alpha + 1 \dots (1) \\ y = 2\alpha + 3\beta - 1 \dots (2) \\ z = -6\beta + 3 \dots (3) \end{cases}$$

$$\beta \quad \alpha \quad \beta = \frac{1}{6}(3 - z) : (3) \quad \alpha = \frac{1}{3}(1 - x) : (1)$$

$$y = 2 \left(\frac{1}{3} - \frac{1}{3}x \right) + 3 \left(\frac{1}{2} - \frac{1}{6}z \right) - 1 : (2)$$

$$y = \frac{2}{3} - \frac{2}{3}x + \frac{3}{2} - \frac{1}{2}z - 1 :$$

$$\frac{2}{3}x + y + \frac{1}{2}z - \frac{2}{3} - \frac{3}{2} + 1 = 0 :$$

$$\frac{4x + 6y + 3z - 7}{6} = 0 : \quad \frac{2}{3}x + y + \frac{1}{2}z - \frac{7}{6} = 0 :$$

$$4x + 6y + 3z - 7 = 0 :$$

: (ST) -2

$$\vec{SM} (x + 2, y - 1, z - 3) : \vec{ST} (3; 1; -6)$$

$$\vec{SM} = \lambda \vec{ST}$$

$$\begin{cases} x = 3\lambda - 2 \\ y = \lambda + 1 \\ z = -6\lambda + 3 \end{cases} : \begin{cases} x + 2 = 3\lambda \\ y - 1 = \lambda \\ z - 3 = -6\lambda \end{cases}$$

(DT)

8

:(Δ) (D)

$$\begin{cases} \lambda' = -1 + \lambda - \mu \\ -2\lambda' + 1 = 2 - \lambda + \mu \\ -\lambda' = \lambda - 2\mu \end{cases}$$

$$(1) \dots \begin{cases} \lambda' - \lambda + \mu + 1 = 0 \end{cases}$$

$$(2) \dots \begin{cases} -2\lambda' + \lambda - \mu - 1 = 0 \end{cases}$$

$$(3) \dots \begin{cases} -\lambda' - \lambda + 2\mu = 0 \end{cases}$$

$$\lambda' = 0 \quad -\lambda' = 0 : (2) (1)$$

$$\begin{cases} -\lambda + \mu + 1 = 0 \\ -\lambda + 2\mu = 0 \end{cases}$$

$$\mu = 1 : \quad -\mu + 1 = 0 :$$

$$z = 0, y = 1, x = 0 : \quad \lambda = 2 :$$

I(0; 1; 0) :

9

:(Δ) (1)

M(x; y; z)

$$\vec{AM} = \lambda \vec{u} :$$

(Δ) M

$$\begin{cases} x = 2\lambda + 1 \\ y = -\lambda + 1 \\ z = \lambda - 1 \end{cases} : \begin{cases} x - 1 = 2\lambda \\ y - 1 = -\lambda \\ z + 1 = \lambda \end{cases} :$$

(Δ)

: (BCD)

(2)

$$\alpha x + \beta y + \gamma z + \delta = 0 :$$

$$\begin{cases} -\alpha + \beta - \gamma - \delta = 0 \dots (1) \\ -\beta + \gamma + \delta = 0 \dots (2) \\ -\alpha + \gamma + \delta = 0 \dots (3) \end{cases} : \quad B, C, D$$

$$\alpha = 2\delta : \quad -\alpha + 2\delta = 0 : \quad (2) \quad (1)$$

$$\beta = \alpha : \quad -\beta + \alpha = 0 : \quad (2) \quad (3)$$

$$-2\delta + 2\delta - \gamma + \delta = 0 : \quad (1) \quad \beta = 2\delta :$$

$$\gamma = \delta :$$

$$2\delta x + 2\delta y + \delta z + \delta = 0 :$$

$$2x + 2y + z + 1 = 0 : \quad \delta(2x + 2y + z + 1) :$$

. (BCD)

: (BCD) (Δ)

-3

$$\begin{cases} x = 2\lambda + 1 \\ y = -\lambda + 1 \\ 2x + 2y + z + 1 = 0 \end{cases} :$$

$$2(2\lambda + 1) + 2(-\lambda + 1) + \lambda - 1 + 1 = 0 :$$

$$\lambda = \frac{-4}{3} : \quad 3\lambda + 4 = 0 :$$

$$z = \frac{-4}{3} - 1 = \frac{-7}{3}, y = \frac{4}{3} + 1 = \frac{7}{3}, x = \frac{-8}{3} + 1 = \frac{-5}{3} :$$

$$\mathbf{J} \left(\frac{-5}{3} ; \frac{7}{3} ; \frac{-7}{3} \right) :$$

10

: (D') و (D) (1)

$$\begin{cases} \lambda = 3\lambda' + 2 \\ 6\lambda' + 4 - 2 = -\lambda' - 5 \\ -3\lambda' - 2 + 3 = \lambda' + 5 \end{cases} : \begin{cases} \lambda + 1 = 3\lambda' + 3 \\ 2\lambda - 2 = -\lambda' - 5 \\ -\lambda + 3 = \lambda' + 5 \end{cases}$$

$$\begin{cases} x = 0 \\ y = -4 \\ z = 4 \end{cases} : \begin{cases} \lambda' = -1 \\ \lambda = -1 \end{cases} : \begin{cases} \lambda = 3\lambda' + 2 \\ 7\lambda' = -7 \\ -4\lambda' = 4 \end{cases} :$$

w(0 ; -4 ; 4)

(D') و (D)

: (D') و (D) (P) -2

\vec{n} (P)

$\vec{n}(\alpha ; \beta ; \gamma)$

(D') و (D)

$\vec{v}(3 ; -1 ; 1)$, $\vec{u}(1 ; 2 ; -1)$:

$\vec{n} \cdot \vec{v} = 0$ و $\vec{n} \cdot \vec{u} = 0$:

$$4\alpha + \beta = 0 : \begin{cases} \alpha + 2\beta - \gamma = 0 \\ 3\alpha - \beta + \gamma = 0 \end{cases} :$$

$$\gamma = -7\alpha : \quad \alpha - 8\alpha - \gamma = 0 : \quad \beta = -4\alpha :$$

$$\gamma = -7 , \beta = -4 : \quad \alpha = 1$$

$$x - 4y - 7z + \delta = 0 :$$

$$0 + 16 - 28 + \delta = 0 :$$

$$x - 4y - 7z + 12 = 0 :$$

w

$$\delta = 12 :$$

11

$$\begin{cases} \alpha = -\lambda + 1 \dots (1) \\ \alpha - 1 = 2\lambda \dots (2) \\ -\alpha = \lambda + 1 \dots (3) \end{cases} :$$

$$\lambda = \frac{-2}{3} \quad -1 = 3\lambda + 1 : (3) (2)$$

:

$$\begin{cases} \alpha = \frac{5}{3} \\ \alpha = -\frac{1}{3} \\ \alpha = -\frac{1}{3} \end{cases} : \begin{cases} \alpha = \frac{5}{3} \\ \alpha - 1 = -\frac{4}{3} \\ -\alpha = \frac{1}{3} \end{cases}$$

(Δ) و (D)

(Δ) و (D) -2

$$\vec{v}(1; 1; -1) \quad (\Delta) \quad \vec{u}(-1; 2; 1) \quad (D) \quad \vec{v} \quad \vec{u}$$

(Δ) و (D)

(Δ) و (D)

: (p_α) -3

$$A(\alpha; \alpha - 1; -\alpha) : \alpha \quad (\Delta) \quad A$$

$$B(1; 0; 1) \quad (D) \quad B$$

$$\vec{u}(-1; 2; 1) \quad (D)$$

$$: (p_{\alpha}) \quad (A) \quad (D) \quad (p_{\alpha})$$

M(x; y z)

$$\vec{BA} (\alpha - 1; \alpha - 1; -\alpha - 1), \quad (B; \vec{u}; \vec{BA})$$

$$\vec{BM} = \lambda \vec{u} + \mu \vec{BA} : (p_{\alpha})$$

$$\begin{aligned} (1) \dots & \left\{ \begin{array}{l} x - 1 = -\lambda + \mu(\alpha - 1) \\ y - 0 = 2\lambda + \mu(\alpha - 1) \end{array} \right. : \\ (3) \dots & \left\{ \begin{array}{l} z - 1 = \lambda - \mu(\alpha + 1) \end{array} \right. \end{aligned}$$

$$x - 1 - y = -3\lambda : (1) \quad (2)$$

$$\lambda = -\frac{1}{3}(x - y - 1)$$

$$x - 1 + z - 1 = -2\mu : (3) \quad (1)$$

$$: (1) \quad \mu = -\frac{1}{2}(x + z - 2)$$

$$x - 1 = \frac{1}{3}(x - y - 1) - \frac{1}{2}(x + z - 2)(\alpha - 1)$$

$$6(x - 1) = 2(x - y - 1) - 3(x + z - 2)(\alpha - 1)$$

$$6x - 6 = 2x - 2y - 2 - 3(\alpha - 1)x - 3(\alpha - 1)z + 6(\alpha - 1)$$

$$4x + (3)(\alpha - 1)x + 2y + 3(\alpha - 1)z + 2 - 6\alpha + 6 - 6 = 0$$

$$(3\alpha + 1)x + 2y + 3(\alpha - 1)z + 2 - 6\alpha = 0 :$$

.(p_α)

$$: (p_{\alpha}) \quad \alpha \quad -4$$

$$\alpha = \frac{1}{3} : \quad 2 - 6\alpha = 0$$

$$\text{by} + \text{cz} : \quad (\mathbf{O}; \vec{i}) \quad (p_{\alpha}) \quad -5$$

$$+ d = 0$$

$$\alpha = -\frac{1}{3} : \quad 3\alpha + 1 = 0 :$$

$$\boxed{12}$$

$$: (1)$$

$$(\mathbf{AE}) : \begin{cases} x = 0 \\ y = 0 \\ z = \lambda \end{cases}, \quad (\mathbf{AD}) : \begin{cases} x = 0 \\ y = \lambda \\ z = 0 \end{cases}, \quad (\mathbf{AB}) : \begin{cases} x = \lambda \\ y = 0 \\ z = 0 \end{cases}$$

$$: (\text{BCG}) \quad (2)$$

$$\mathbf{B}(1; 0; 0) \quad (\text{BCG})$$

$$\overrightarrow{\mathbf{BF}}(0; 0; 1), \overrightarrow{\mathbf{BC}}(0; 1; 0)$$

$$M(x; y; z)$$

$$(\mathbf{B}, \overrightarrow{\mathbf{BC}}, \overrightarrow{\mathbf{BF}})$$

$$\overrightarrow{\mathbf{BM}} = \lambda \overrightarrow{\mathbf{BC}} + \mu \overrightarrow{\mathbf{BF}} : (\text{BCG})$$

$$\begin{cases} x - 1 = 0 \\ y = \lambda \\ z = \mu \end{cases} : (\text{BCG})$$

$$: (\text{BCG}) \quad (\text{P}) \quad (3)$$

$$\begin{cases} 2x + 6y - z + 5 = 0 \\ x = 1 \\ y = \lambda \\ z = \mu \end{cases} :$$

$$: \quad 2 + 6y - z + 5 = 0 : \\ 6y - z + 7 = 0$$

$$.(\mathbf{O}, \vec{i})$$

13

$$\begin{cases} x - y + z - 4 = 0 \dots (1) \\ x + 2y - 3z = 0 \dots (2) \end{cases} :$$

$$-3y + 4z - 4 = 0 \quad (1) \quad (2)$$

$$y = \frac{4}{3}z - \frac{4}{3} \quad y = \frac{1}{3}(4z - 4) :$$

$$x - \frac{4}{3}z + \frac{4}{3} + z - 4 = 0 : \quad (1)$$

$$3x - 4z + 4 + 3z - 12 = 0 :$$

$$x = \frac{1}{3}z + 8 : \quad 3x - z - 8 = 0 :$$

$$\begin{cases} x = \frac{1}{3}t + 8 \\ y = \frac{4}{3}t - \frac{4}{3} \\ z = t \end{cases} : z = t \quad \begin{cases} x = \frac{1}{3}z + 8 \\ y = \frac{4}{3}z - \frac{4}{3} \\ z = z \end{cases} :$$

$$\mathbf{I} \left(8, \frac{-4}{3}, 0 \right) \quad (\mathbf{p}') \quad (\mathbf{P})$$

$$\vec{u} \left(\frac{1}{3}; \frac{4}{3}; 1 \right)$$

14

$$\vec{AC} \quad \vec{AB} \quad \vec{AC}(0; 1; -1), \vec{AB}(-1; 1; 0)$$

$$(\mathbf{p}') \quad (\mathbf{A}, \vec{AB}, \vec{AC})$$

$$\vec{AM} = \alpha \vec{AB} + \beta \vec{AC} : (\mathbf{P}') \quad M(x; y; z)$$

$$\begin{cases} x = -\alpha + 1 \\ y = \alpha + \beta \\ z = -\beta + 1 \end{cases} : \begin{cases} x - 1 = -\alpha \\ y - 0 = \alpha + \beta \\ z - 1 = -\beta \end{cases} :$$

.(P')

: (P') (P)

-2

$$\begin{cases} -x + y + z - 4 = 0 \dots (1) \\ x = -\alpha + 1 \dots (2) \\ y = \alpha + \beta \dots (3) \\ z = -\beta + 1 \dots (4) \end{cases} :$$

